
	

Sesión	9		
Preguntas	de	auto	evaluación	

	
	
1.	En	muchos	países	europeos	los	niños	pequeños	son	envidados	a	familias	de	acogida	en	lugar	de	
instituciones	porque:	

a. Los	niños	que	viven	en	familias	de	acogida	generalmente	mejoran	más	que	los	que	viven	
en	instituciones	

b. Las	familias	de	acogida	son	entornos	perfectos	para	que	los	niños	crezcan	y	se	recuperen	
de	sus	trastornos	de	apego,	y	no	causan	problemas		

c. Las	instituciones	no	ofrecen	ventajas	con	respecto	a	las	familias	de	acogida,	a	los	niños	que	
necesitan	recuperarse	de	trastornos	de	apego		

d. Ninguna	de	las	anteriores	
	
2.	Cuando	consideramos	los	cambios	orientados	a	mejorar	la	relación	de	los	niños	con	el	cuidador:			

a. Una	persona	debería	estar	a	cargo	y	proceder	sin	discutirlo	con	otras	personas		
b. Una	persona	debería	estar	a	cargo	de	resolver	cada	posible	problema	que	se	encuentre		
c. Una	personal	debería	estar	a	cargo	de	reunir	toda	la	información	necesaria	y	de	

encontrar	soluciones	
d. Los	miembros	del	equipo	deberían	apoyarse	entre	sí	para	implementar	el	cambio	

	
3.	Revisar	los	planes	de	trabajo	de	las	instituciones	es	necesario	con	frecuencia	porque:		

a. Ayuda	a	encontrar	muebles	más	innovadores	y	atractivos		
b. Ayuda	a	mejorar	la	importancia	de	la	relación	entre	los	niños	y	los	cuidadores		
c. Ayuda	encontrar	la	manera	de	aumentar	el	número	de	cuidadores	empleados	por	la	

institución		
d. Ayuda	aumentar	el	número	de	niños	que	pueden	ser	acogidos	por	la	institución	

	
4.	Al	planificar	un	cambio	es	importante	considerer:			

a. Las	ventajas	que	traerá	a	los	miembros	del	equipo		
b. Los	problemas	que	le	puede	traer	a	los	miembros	del	equipo		
c. Las	recomendaciones	para	resolver	los	posibles	problemas		
d. Todas	las	anteriores	

	
5.	Lo	que	genera	la	diferencia	en	el	desarrollo	de	niños	con	trastornos	de	apego	es:	

a. Los	servicios	ofrecidos	por	las	instituciones		
b. Ser	acogido	en	una	familia	durante	un	tiempo	prolongado		
c. Una	relación	de	larga	duración	con	un	cuidador		
d. El	número	de	cuidadores	que	atienen	a	un	niño		

SOLUCIÓN:	1a;	2d;	3b;	4d;	5c	
	


